



Informatica

Informatica Business Solutions Pvt. Ltd
No.66/1, Bagmane Commerz 02,
Bagmane Tech Park,
C V Raman Nagar,
Bangalore, Karnataka
India 560 093
main:+91 80 4020 3000
fax: +91 80 4020 3185

informatica.com
CIN : U72200KA2003PTC031642

Date: 05/10/2018

To,

Connectivity IT Solutions Pte Ltd., Singapore
NO.3, SHENTON WAY, #10-06, SHENTON HOUSE,
SINGAPORE - 068805

Dear Connectivity / Cisco Team,

Kind Attention: Mr. Narasimha Murthy

We would like to confirm that, we have decided to place PO on Connectivity IT Solutions Pte Ltd., Singapore for supply of Networking Switches & Cisco IP Phones against your quote reference # SQ/CS/SGP/06-IBSPL/18-19 dated 2nd October 2018.

Kindly consider this as a non-cancellable LOI to proceed with the ordering formalities. We will be working on a formal PO once our new ordering systems goes live on October 15th, 2018.

Project value and terms and conditions stated below. Attached you will also find the final quote which we have received from you for this Project

Name of project	Informatica Commerz 1 Project
Total order value USD	USD 249,074.46
Installation Costs	Included
Duty and Taxes/GST	Exempted due to STPI Facility
Delivery Period	4 – 6 weeks from LOI





Informatica™

Informatica Business Solutions Pvt. Ltd
No.66/1, Bagmane Commerz 02,
Bagmane Tech Park,
C V Raman Nagar,
Bangalore, Karnataka
India 560 093
main:+91 80 4020 3000
fax: +91 80 4020 3185

informatica.com

CIN : U72200KA2003PTC031642

Delivery Period	4 – 6 weeks from LOI
Delivery Terms	CIF Bangalore Airport
Clear Payment terms (with Days)	Net 30 days from delivery and confirmation
Name & Complete Bill To & ship to Address with PIN Code	Informatica Business Solutions Pvt. Ltd. No. 66/1, Bagmane Commerz 2, Bagmane Tech Park, C.V.Raman Nagar, Bangalore – 560093
GSTIN Bill to	29AABCI0762M1ZB
Final BOQ Have to be attached in the mail	Attached as Annexure 1

Please feel free to call me back if you have any questions in this regard.

Thanking you,

For Informatica Business Solutions Pvt Ltd


Shankar Ganesh A B
Sr. Manager Procurement



ANNEXURE -1



Connectivity IT Solutions Pte Ltd., Singapore
NO.3, SHENTON WAY, #10-06/ SHENTON HOUSE, SINGAPORE - 068805

To :	Informatica Business Solutions Pvt. Ltd. No. 66/1, Bagmane Commerz 02, Bagmane Tech Park, C V Raman Nagar, Bengaluru, Karnataka 560093	Quote No.	SQ/CS/SGP/06-IBSPL/18-19
		Date	2-Oct-18
		Payment Term	Nett 30
		Inquiry date	1-Oct-18
		From	Shivakumar
		HP	9916977702
		E-mail ID	shivakumar@connectivitysolutions.in

Quotation

Dear Sir,

We thank you for giving Connectivity Solutions an opportunity to propose a solutioning for your business needs , Subject to our General Conditions of Services as printed herein & overleaf, we are pleased to submit our quotation for your requirement.

No.	Product	Products Description	QTY	UoM	UNIT Price	Total
1	N9K-C93180YCXB1Q	2 Nexus 93180YC-EX with 8 QSFP-40G-SR-BD	1	No's	20429	20428.80
2	NXOS-70317.4	Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3)I7(4)	1	No's	0	0.00
3	CAB-C13-C14-2M	Power Cord Jumper, C13-C14 Connectors, 2 Meter Length	2	No's	0	0.00
4	NXA-PAC-650W-PI	Nexus NEBA AC 650W PSU - Port Side Intake	2	No's	0	0.00
5	NXA-FAN-30CFM-B	Nexus 2K/3K/9K Single Fan, port side intake airflow	4	No's	0	0.00
6	NXOS-70317.4	Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3)I7(4)	1	No's	0	0.00
7	CAB-C13-C14-2M	Power Cord Jumper, C13-C14 Connectors, 2 Meter Length	2	No's	0	0.00
8	NXA-PAC-650W-PI	Nexus NEBA AC 650W PSU - Port Side Intake	2	No's	0	0.00
9	NXA-FAN-30CFM-B	Nexus 2K/3K/9K Single Fan, port side intake airflow	4	No's	0	0.00
10	N93-LIC-PAK	N9300 License PAK Expansion	1	No's	0	0.00
11	N93-LAN1K9	LAN Enterprise License for Nexus 9300 Platform	1	No's	4750	4750.00
12	N9K-DCNM-PAK	N9000 DCNM License PAK Expansion	1	No's	0	0.00
13	DCNM-LAN-N93-K9	DCNM for LAN Advanced Edt. for Nexus 9300 switches	1	No's	380	380.00
14	N93-LIC-PAK	N9300 License PAK Expansion	1	No's	0	0.00
15	N93-LAN1K9	LAN Enterprise License for Nexus 9300 Platform	1	No's	4750	4750.00
16	N9K-DCNM-PAK	N9000 DCNM License PAK Expansion	1	No's	0	0.00
17	DCNM-LAN-N93-K9	DCNM for LAN Advanced Edt. for Nexus 9300 switches	1	No's	380	380.00
18	SFP-10G-SR	10GBASE-SR SFP Module	20	No's	378	7562.00
19	SFP-10G-LR	10GBASE-LR SFP Module	8	No's	1518	12144.80
20	CP-8841-K9	Cisco IP Phone 8841	170	No's	196	33269.00
21	AIR-AP3802I-D-K91	802.11ac W2 AP w/CA; 4x4:3; Mod; Int Ant; mGig D Domain	18	No's	682	12277.80
22	WS-C4510R+E	Catalyst 4500E 10 slot chassis for 48Gbps/slot, fan, no ps	2	No's	3988	7976.20
23	S45EU-S8-38E	CAT4500e SUP8e Universal Image	2	No's	0	0.00
24	WS-X45-SUP8-E	Catalyst 4500 E-Series Supervisor 8-E	2	No's	9878	19756.20
25	WS-X4748-RJ45V+E	Catalyst 4500E 48-Port PoE 802.3at 10/100/1000(RJ45)	2	No's	3770	7539.20
26	WS-X4748-RJ45V+E	Catalyst 4500E 48-Port PoE 802.3at 10/100/1000(RJ45)	2	No's	3770	7539.20
27	PWR-C45-9000ACV	Catalyst 4500E 9000W AC triple input Power Supply (Data + Po	2	No's	2392	4784.20
28	CAB-C19-CBN	Cabinet Jumper Power Cord, 250 VAC 16A, C20-C19 Connectors	12	No's	0	0.00
29	PWR-C45-9000ACV/2	Catalyst 4500E 9000W AC triple Input Power Supply (Data + Po	2	No's	2392	4784.20
30	CAB-CON-C4K-RJ45	Console Cable 6ft with RJ-45-to-RJ-45	2	No's	0	0.00
31	WS-X4748-12X48U+E	Catalyst 4500E 48-Port UPOE w/ 12p mGig and 36p 10/100/1000	2	No's	5890	11780.00
32	WS-X4748-12X48U+E	Catalyst 4500E 48-Port UPOE w/ 12p mGig and 36p 10/100/1000	2	No's	5890	11780.00
33	WS-X4748-12X48U+E	Catalyst 4500E 48-Port UPOE w/ 12p mGig and 36p 10/100/1000	2	No's	5890	11780.00
34	WS-X4748-RJ45V+E	Catalyst 4500E 48-Port PoE 802.3at 10/100/1000(RJ45)	2	No's	3770	7539.20
35	WS-X4748-RJ45V+E	Catalyst 4500E 48-Port PoE 802.3at 10/100/1000(RJ45)	2	No's	3770	7539.20
36	WS-X4748-RJ45V+E	Catalyst 4500E 48-Port PoE 802.3at 10/100/1000(RJ45)	2	No's	3770	7539.20
37	WS-X45-SUP8-E/Z	Catalyst 4500 E-Series Redundant Supervisor 8-E	2	No's	9798	15956.20
38	SFP-10G-SR	10GBASE-SR SFP Module	8	No's	378	3024.80
39	SFP-10G-SR	10GBASE-SR SFP Module	8	No's	378	3024.80
40	CP-8832-NR-K9	Cisco IP Conference Phone 8832 No Radio version	16	No's	606	9697.60
41	CP-8832-POE	Cisco IP Conference Phone 8832 PoE Accessories for Worldwide	16	No's	48	760.00
42	CP-8832-MIC-WIRED-	Cisco 8832 Wired Microphones Kit for Worldwide	16	No's	171	2736.00
43	ATA191-K9	2-Port Analog Telephone Adapter	3	No's	114	340.86
44	ATA191-CLIP-IN	Power Clip for ATA191 and ATA192, India	3	No's	0	0.00
45						
46						
					GROSS TOTAL	\$ 2,41,819.46
					CIF	\$ 7,255.00
					GRAND TOTAL	\$ 2,49,074.46

AMOUNT IN WORDS :DOLLAR TWO LAKH FORTY NINE THOUSAND SEVENTY FOUR AND FORTY SIX PAISE ONLY

Terms & Conditions	
Taxes	Taxes as per the above proposal
WARR	OEM STANDARD
Period	NA
Deliver	4-6 WEEKS
Freight	TILL BANGALORE PORT
Order	Confirmed Order to be raised on CONNECTIVITY IT SOLUTIONS PTE LTD, SINGAPORE
Payment Terms	Nett 30 days
Bank Details	Account Name: CONNECTIVITY IT SOLUTIONS PTE, LTD., Bank: OVERSEAS CHINESE BANKING CORPORATION LIMITED NO. 65, CHULIA STREET OCBC CENTRE, NORTH BRANCH SINGAPORE - 049513. USD A/C# 503070856301, CURRENT ACCOUNT SWIFT CODE: OCBCSGSG

Validity	Our commercial proposal is valid for a period of 10 Days from the date of proposition.
Service	Quote is for specified site location only & prior information on site address / site location to be confirmed
Service	Service charges for business hours, outside business hours and weekends differ.
	Manuals are integrated with the electronic help system or as per OEM standard.
Buyers Contact	We request the Name, Designation, Contact Numbers and email ID of the Person for delivery receipt to be mentioned in the quote.
	Force Majeure clause shall be applicable at mes during delayed deliveries or non delivery for reasons like unavailability of raw material.
	All Purchase Orders need to be placed on:
	CONNECTIVITY IT SOLUTIONS PTE LTD
	No.3, Shenton Way, #13-06
	Shenton House, Singapore-068805